Subject: Re: integer?
Posted by Nigel Wade on Wed, 31 Jul 2002 08:32:37 GMT

View Forum Message <> Reply to Message

tom wrote:

> Hi, all

>

> This is a segment of HEX: 00 00 00 64
>

> there are two 2byte-integers in it.

> But when | set

> a=0

> readu,lun,a ;1 hope a=hex(00 00)

> print,a

> the result is 100. That's a=hex(00 00 00 64)
> that's the same as "a=0I readu,lun,a"
>

> how to read 2byte integer then?

>

> Tom

Could the number be one little endian 32 bit integer rather than two 16 bit
ones? That would account for the discrepancy.

What platform are you doing this on, and what platform was the data file
created on?
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